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PART 1: USE OF ENGLISH (20 pts.)

1. When lava reaches the surface, its temperature can be ten times          boiling water. 

A. the temperature  
B. more
C. it is 
D. that of
2. Our son has really taken a _________ to one of the other boys at nursery. And they play so 
nicely together as well.

A. beam 
B. glow
C. shine 
D. like

3. Whatever Carol ____________ to do, she achieves it.


A. gets on 
B. sees to 
C. sets out 
D. looks for

4. Congress has a number of lawmaking responsibilities and is known as the ____________ 
branch of the US government.


A. legislative
B. conventional
C. supreme court 
D. executive

5. A computerized map of the freeways using information gathered by sensors embedded in the 
pavement _________ on a local cable channel during rush hours.


A. air
B. airs
C. to air
D. airing

6. Not only ____________ among the largest animals that ever lived but they are also among the 
most intelligent.


A. they are whales 
B. whales 
C. some whales 
D. are whales

7. Make sure you mix the ingredients well, ____________ you might get lumps in your cake.


A. unless 
B. otherwise 
C. provided 
D. supposing

8. – Person 1: Would it bother you if I had a look at your paper? – Person 2: “______________.”

A. Actually, I'd rather you didn't.
B. That is a good idea.

C. Oh, I did not realize it.
D. You are welcome.

9. ________ most important event in San Francisco's history was the disastrous earthquake and 
fire of 1906.
     
A. The     
B. It was the    
C. That the    
D. There was a

10. This conservation projects looks promising, but it’s still ____________.


A. in advance
B. in the early stages
C. under stress 
D. at first sight

Answers:  1. ______ 2. ______ 3. ______ 4. ______ 5. ______



6. ______ 7. ______ 8. ______9. ______  10. ______

Notes: Only letters A, B, C or D should be written.
PART 2: WORD FORMS (60 pts.)

A. Use the correct form of the word given to fill in each blank. (30 pts.)

1. The kitchen was filled with the _________ aroma of freshly baked bread. (water)

2. In her time, Isadora was what we would call today a _________ woman. (liberation)


PART 2: WORD FORMS (60 pts.)

A. Use the correct form of the word given to fill in each blank (30 pts)
1. Private school feared losing its _____________ with the state’s university system. (credit)
2. I think my last statement _____________ the situation pretty well – at least, I can’t think of any better summary. (capsule)
3. You’ll never talk him into going swimming because he suffers from _____________. (phobic)
( ____________________________________________________________________________

3. Although _____________ from the school, he managed to publish a second stepney words later that year. (ban)

4. Unfortunately, many people are still worryingly __________________ of the facts about aids. (ignore)

5. The newspaper has been accused of publishing _________ information in relation to the case. (lead)

6. Worker-owned companies consistently _________ traditionally-run businesses. (performance)

7. Indigo is a vat colour, _________ because it does not dissolve in water. (calling)
8. Most of what archaeologists know about _________ cultures is based on studies of material remains. (history)
9. Still a _________ in the late nineteenth century, photographs was limited to the rich. (novel)

10. Dolphins are sleek and powerful swimmers _________in all seas and unlike porpoises, have well defined, beaklike snouts and conical teeth. (finding)

Answers:  1. ___________________ 2. ___________________  3. _______________________ 

4. __________________ 5. _____________________ 6. _____________________

7. ____________________8. ______________________9. ______________________  
10. ________________________. 
B. Put the words given in the correct blanks. You have to use their correct forms to make a meaningful passage. There are two extra words that you cannot use. (30 pts.)
	imagination -  click - absolute - number - technical - necessity 
board - usage - study - hand - engineer – progress 


The first half of the 20th century saw the opening up of (1)_________ new fields of understanding, among them psychology and anthropology, which led to more (2)_________ methods in education. Educators realised that children do not (3)_________ learn best by copying and memorising. The developments of (4) _________ experiential learning meant that children would benefit not just from reading about how a butterfly flaps its wings but from actually seeing one; not just from reading (5)_________ texts but from watching a bridge being built; not just from learning the rules of foreign languages but from actually trying to use them. 
Gradually, new (6)_________ such as the cassette recorder, the video and the computer made their way into classrooms. Then, at the beginning of the 21st century, (7)_________ arrived. These provide access to the Internet, save everything the class has written on them. And allow (8) _________ to do all sorts of things such as drag (9)_________and words around the screen. Then a hand-held device called a (10)_________ arrived, allowing each student to answer questions in private, their answers seen only by the teacher.

( ____________________________________________________________________________

Answers:  1. ____________________ 2. ____________________ 3. _____________________ 4. _______________________  5. ________________________6. ____________________

7. ____________________ 8. ______________________9. ________________________

10. ________________________
PART 3: CLOZE TEST (30 pts.)

Read the passage and choose the best option (A, B, C or D) for each space. 

Schools in the United States have not always had a large number of libraries. As (1) ________ as 1958 about half of the public schools in the United States had no libraries at all. The number of public school libraries increased dramatically (2) ________ the federal government passed the Elementary and Secondary Education Act of 1965, (3) ________ provided funds for school districts to improve their education programs and facilities, including their libraries. (4) ________, many educators claim that since the legislation was passed federal spending has not increased sufficiently to meet the rising (5) ________ of new library technologies such as computer databases and Internet access.

   Because the federal government provides only limited funds to schools, individual school districts (6) ________ on funds from local property taxes to meet the vast majority of public school expenses. Therefore, the libraries of the public schools tend to reflect the (7) ________ capabilities of the communities in which they are located. Districts in wealthy suburbs often have fully staffed libraries (8) ________ abundant resources, spacious facilities, and curricular and instructional support. In (9) ________, school districts in many poor areas house their libraries in ordinary classrooms or in small rooms. The libraries in such areas are generally staffed by volunteers, who organize and (10) ________ books that are often out-of-date, irrelevant, or damaged.

1. A. freshly
B. frequently
C. recently
D. newly

2. A. though
B. with
C. during
D. when

3. A. that
B. which
C. who
D. this

4. A. Nevertheless
B. Consequently
C. Therefore
D. Otherwise

5. A. fine
B. fee
C. cost
D. sum

6. A. go
B. rely
C. come
D. stay

7. A. educational
B. economical
C. political
D. financial

8. A. with
B. for
C. on
D. by

9. A. country
B. converse
C. contrast
D. conflict

10. A. attain
B. obtain
C. contain
D. maintain

Answers:  1. ______ 2. ______ 3. ______ 4. ______ 5. ______



6. ______ 7. ______ 8. ______9. ______  10. ______
Notes: Only letters A, B, C or D should be written.

( ____________________________________________________________________________

PART 4: READING COMPREHENSION (30 pts.)

Choose the item (A,B, C or D) that best completes the unfinished statement about the passage.

During most of their lives, surge glaciers behave like normal glaciers, traveling perhaps only a couple of inches per day. However, at intervals of 10 to 100 years, these glaciers move forward
up to 100 times faster than usual. The surge often progress along a glacier like a great wave, proceeding from one section to another. Sub glacial streams of melt water
5
might act as a lubricant, allowing the glacier to flow rapidly toward the sea. The increasing water pressure under the glacier might lift it off its bed, overcoming the friction between ice and
rock, thus freeing the glacier, which rapidly slides downhill. Surge glaciers also might be influenced by the climate, volcanic heat, or earthquakes. However, many of these glaciers exist in the same areas as normal glaciers, often almost side by side.
10

Some 800 years ago, Alaska’s Hubbard Glacier advanced toward the sea, retreated, and advanced again 500 years later. Since 1895, this seventy-mile-long river of ice has been flowing steadily toward the Gulf of Alaska at a rate of approximately 200 feet per year. In June 1986,
however, the glacier surged ahead as much as 47 feet a day. Meanwhile, a western tributary, called Valerie Glacier, advanced up to 112 feet per day. Hubbard’s surge closed off Russell
15  Fiord with a formidable ice dam, some 2,500 feet wide and up to 800 feet high, whose caged
waters threatened the town of Yakutat to the south.
About 20 similar glaciers around the Gulf of Alaska are heading toward the sea. If enough surge glaciers reach the ocean and raise sea levels, West Antarctic ice shelves could rise off the seafloor and become adrift. A flood of ice would then surge into the Southern Sea. With the
20
continued rise in sea level, more ice would plunge into the ocean, causing sea levels to rise even higher, which in turn would release more ice and set in motion a vicious cycle. The additional
sea ice floating toward the tropics would increase. Earth’s albedo and lower global temperatures, perhaps enough to initiate a new ice age. This situation appears to have occurred
at the end of the last warm interglacial (the time between glaciations), called the Sangamon,
25
when sea ice cooled the ocean dramatically, spawning the beginning of the Ice Age.

1. What is the main topic of the passage?
A. The classification of different types of surge glaciers.
B. The causes and consequences of surge glaciers.
C. The definition of a surge glacier. 
D.  The history of a particular surge Glacier.
2. The word “intervals” in line 2 is closest in meaning to _________.
A. records 
B. speeds 
C. periods
D. distances
3. The author compares the surging motion of a surge glacier to the movement of a _________.
A. fish 
B. wave 
C. machine 
D. boat

( ____________________________________________________________________________

4. Which of the following does the another mention as possible cause of surging glaciers?
A. The decline in sea levels.
B. The occurrence of unusually large ocean waves.
C. The shifting Antarctic ice shelves.
D. The pressure of melt water underneath the glacier.
5. The word “freeing” in line 7 is closest in meaning to _________.
A. pushing 
B. releasing 
C. strengthening 
D. draining

6. According to the passage, the Hubbard Glacier _________.
A. moves more often than the Valerie Glacier.
B. began movement toward the sea in 1895
C. is 800 feet wide.
D. has moved as fast as 47 feet per day.
7. Yakutat is the name of _________.

A. an Alaskan town 

B. the last ice age



C. a surge glacier

D. an Antarctic ice shelf
8. The word “plunge” in line 20 is closest in meaning to _________.

A. drop 
B. extent 
C. melt 
D. drift
9. The term “vicious cycle” in line 22 refers to the _________.
A. movement pattern of surge glaciers
B. effect surge glaciers could have on the temperature of tropical areas
C. effect that repeated rising sea levels might have on glacial ice
D. constant threat surge glaciers could pose to the Gulf of Alaska
10. The author provides a definition for which of the following terms?
A. Tributary (line 14)  

B. Ice dam (line 15) 

C. Albedo (line 23) 

D. Interglacial (line 24)

Answers:  1. ______2. ______ 3. ______ 4. ______ 5. ______



6. ______ 7. ______ 8. ______9. ______  10. ______
PART 5: SENTENCE TRANSFORMATION (60 pts.)

Rewrite each sentence in such a way that it means the same as the one printed before it. Use the word in brackets without making any change to it. You must use between three and six words.

0
I haven’t driven an automatic car for several years. (last)

It’s several years since I last drove an automatic car.

1. I was surprised when he said he wouldn’t work overtime. (refusal)
His ______________________________________ as a surprise to me. 


( ____________________________________________________________________________

2. Don’t bother to read that book. (worth)
It______________________________________ that book.

3. He tried very hard to stop smoking. (effort)
He _____________________________________ up smoking.

4. I went to have my own look at the apartment and I couldn’t understand why my friend wanted us to live in such a depressing place! (see)

Having _________________________________ myself, I couldn’t understand why my friend wanted us to live in such a depressing place!

5. This is your third warning from me this week about being late for work. (not)
 
This is the third time this week I _____________________________________ be late for work.
6. I wanted to stay in last night but my flat mate insisted we go out. (sooner)

I _______________________________ last night but my flat mate insisted we go out.
7. When Michael’s boat began to sink, he sent a signal for help. (did)
When Michael’s boat began to sink, what __________________________________ a signal
for help.
8. I think Anita must have gone on a diet recently because she’s quite slim now.
(has)
It looks as ____________________________________ dieting because she’s quite slim now.
9.  Your chances of being affected by eye-strain and back injury increase with the
amount of time you spend in front of a screen. (likely)
The more time you spend in front of a screen, the ______________________________ from eye-strain and back injury. 
10. I was impatient to get home because the holiday was such a disaster. (wait).

The holiday was so ___________________________ to get home.

( END OF THE TEST (
Số của mỗi bài: 




















(Phần phách này sẽ được cắt đi, học sinh không được ghi ở đây.)
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